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This paper contains Sixty (60) multiple-choice questions of two marks each.

You are required to answer any fifty (50) questions out of them. If you attempt
more than 50 questions, the first 50 questions you have attempted will be
evaluated. There is no negative marking for wrong answers.

HEEE [ TE TR TENENT)

so (uig) egfsedl usl vl . uds ws Q el 3. wumiell

AL Y0 (NaRt) Xailu GuRl Muar . Uig A dd YO s3cl amd waiL Gl
AL dll didl USell WO WAl % d@ar] wadl. wizy s METECRTCIPERTEN

e},

Which of the following statements
defines education best ? -

(A) Education is a means of social

change
(B) Education imparts useful
knowledge
(C) It prepares autonomous human
. beings
(D) It generates a lot of

employment

Semester system is recommended as

it is considered to :

(A) help students learn more
efficiently and be regular |

(B) reduce examination
orientedness and increase
emphasis on learning

(C) provide scope for continual

appraisal and on course
correction in teaching-learning
process

(D)

allow for more creative ways of

teaching
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It 1s said that teachers must enable

students to own the responsibility

for learning. This means teachers

(A) have reduced responsibility of
learning

(B) assign learning tasks to
students

(C) ask students to study on their

- own _

(D) must help students to evolve
one’s own ways of learning

At higher education stage emphasis

needs to be on, not only ‘what’ and

‘how much’ is learned by students

but ‘how’ and ‘how well’ they learn.

This idea is expressed at present

as :

(A) Learning to know

(B} Learning to live

(C) Learning to do

(D) Learning to learn

The current thinking of assessing

students only at the end of the term

is less relevant as it :

(A) reveals student’s learning in
respect of subject matter

(B) concerns with how accurately
one recollects the subject matter

(C) may reveal ‘temporary
learning’ and not beyond

(D) assesses student learning on
‘what is asked’ rather than
‘what is learned’ even beyond
subject matter
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Arrange the following from the least
difficult to most difficult :

(1) Teaching of processes

(2) Teaching of values

(3) Teaching of concepts

(4) Teaching of thinking skills
(A) (1), (3), 1), (2)

(B) (2), (4), (3), (1)

(C) (1), (3), (2), (4)

(D) (1), (2), (3), (4)

Recently a separate Board has been
established to
...................... education institutions in
Gujarat.

(A) legal

(B) technical

(C) medical

(D) professional

The increasing number of entrants
higher education has
necessitated changes in our views
of teaching Some
progressive institutions have faced

monitor all

into

learning,

this through the adoption of '

multimedia for teaching-learning.

This means, the use of................ for

teaching learning,

(Ay lecture-cum-discussion,
practical work

(B) face to face, distance and open
learning (ODL) systems

(C) ODL, face to face, satellite and
web based modes

(D) self-learning, ICT based, ODL
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10.

Apart from specialisation in one’s
subject areas., products of higher
education are also expected to
be.rirriiriien in the context of

national development.

(A) sensitive and proactive towards

emerging concerns and issues
(B) responsible workers in one’s
institution
(C) aware of the economic cﬁanges

especially the job market
(D) tolerant to the negative forces

To ensure quality maintenance in
universities and colleges guidelines
and regulations are periodically
prepared by the................... at the

national level.

(A) National Assessment and
Accreditation Council (NAAC)

(B) National
Educational Research and
Training (NCERT)

Council for

(C) University Grants Commission
(UGC)

‘(D) National Institute of Advanced
Study (NIAS)
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11.

12.

13

The open university at the national
level in India 1s known as :

(A) Indian General National Open

University

(B) Integrated Governmental
National Open University
(C) Indira Gandhi National Open

University

(D) Iswarbhai Gordhanbhai
National Open University

Three kinds of universities in India
are :

(A) State Universities, Central
Universities, Affiliating
Universities

(B) Unitary Universities, Techniecal
Universities, General

Education Universities

(C) State Universities, Central
Universities, Private
Universities

(D) Central Universities, State
Universities, Deemed
Universities

A condition or characteristic that
can take on different values or
categories is called :

(A) a constant
(B) a variable

(C) a cause and effect relationship

(D) a descriptive relationship
Paper-I—A |
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14. A researcher wants to find out the

15.

16.

17.

relationship between gender and

intelligence among high school

students. This would be :

{A) a Case Study

(B) a Developmental Study

(C) a Survey Study

(D) an Experimental Study

The best graphical way to present

data related to different levels of a

certain variable is :

(A) pictogram

(B) pie chart

(C) histogram

(D) frequency polygon

In simple terms ‘reliability’ is

the :

(A) consistency of scores on tests

(B} appropriateness of
interpretation based on test
scores

(C) ways in which people are the

~ same

(D) rank order of participants on
some measure

A researcher was interested in

studying why learning of new maths

was not effective in schools during

1990s. For this, he interviewed

several teachers who had taught

new maths at that time. These

teachers were.................for his study.

(A) primary sources

(B) secondary sources

(C) external critics

(D) internal critics
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18. A positive correlation is present 1g o3 QU3 Y Uiy 4

when : 3
(A) two variables move in opposite ’
directions (A) 8 Adl [A3g Bl v i
B iabl i _ . .
(B) two variables move in the same (B) O el B % B/ R
direction :

(C) both variables have negative UAAL &ld

values (C) ol Al QL Hedl Ylddl €U

(D) several variables rarely change o . A .
gL Al {9 celldl L
Directions (Q. Nos. 19 to 21) : (D) ool o of iy

Answer the questions from the Ya-u (et 19 ol 21) :
given data | AAAL el WlRdl el w19

ol 21 <l GuRr dw)

AellHi 1991 ¢l 1995 sl iy
el Renglai-l 2002 sl wldl
estan?l w3l »uddl 9.

Given data tabulates admission (in
percentage) of the candidates to the
four courses in five years from 1991
to 1995 :

Year [Percentiage of admitted candidates q"{ lla.!l Gﬂﬂ,&l ﬁﬁllﬂ%ﬂ'{l st
WVAURA AUARA FAURANINA ARaM
Biology Geology Chemistry Mathematics
1991 a5 30 20 1
1991 a5 30 20 15 : 5
1992 40 35 1 10
1992 40 35 15 10 5
1 25 20 25
1993 30 25 20 25 993 30
1994 20 2 30
1994 20 20 30 30 0 30
1995 30 30 25 15
1995 30 30 25 15 =

BUAsd Hilsdl s -
WAl GR >N

19. 1993 ¢l 1994 ¥lui R 1URAURA YRE
sl [asuelAi-dl dvarmi seal est

Answer the following questions
based on the above data.

19. What is the % of increase in number

of candidates choosing chemistry qal3] qul 7
from 1993 to 1994 ? : A) 25
(A) 25 B 50
) 50 (C) 100
(C) 100 D) 75
D}y 75
Paper-I—A 9 [P.T.0.]




20. What is the % of fall of number of
candidates in Biclogy from 1992 to
1993 ?

(A) 25
(B) 50
(C) 100
D) 75
21. In which subject the strength (in %)

was least in the year 1993 ?
(A) Biology
{(B) Geology
(C) Chemistry
(D) . Mathematics
Directions (Q. Nos. 22 to 24) :

The following data provides the
information of outgoing students
from an academic institution after
completing their study. Answer the
question Nos. 22 to 24 based on these

data :
. Percentage of Year
Students 2003 2004 2005

by campus recruitment 33 38 39

in further study 40 a6 37
unemployed 2 1 3
to other activities 25 25 22

Total number of students [ 1200 1100 1000
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22. What is the largest number of
students employed through campus
recruitment ?

(A) 396
(B) 418
(C) 490
(D) 430
23. What is decrease in number of
students going for further studies
during 2003-05 ?
(4) 110
(B) 100
(C) 30
D) 10
24. How many students choose other
activities in 2004 ?
(A) 300
(B) 275
(C) 220
D) 200
Directions (Q. Nos. 25 to 30) :

Read the following text and answer
the questions 25 to 30 -

The world is becoming global
rapidly. The national boundaries
have become less significant with
the interlinked effects of technology,
Information flows and investment
mobility, Human knowledge,
particularly in the sphere of science
and technology, is now growing at
@ pace which was indeed
unthinkable even two decades ago.
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The comparative advantage of a
nation will be more and more
influenced by its capacity to
generate, absorb, adapt and
assimilate new technologies into
production process. If liberalisation
and globalisation are not to create
islands of prosperity surrounded by
vast sea of destitution, there has to
be firm commitment to human
resource development and to
continuous upgrading of human
gkills and capabilities in the fast
changing world that we live in. The
Indian policy makers are fully
committed to building a society
which is technologically
sophisticated, economically
progressive and socially just and
humane.

Impact of globalisation on education
is now being felt in India. Indian

entrepreneurs are also now

investing in education. In the -

process of privatisation of higher
education in India, many good
institutions have come up and have
met the increasing demand for
higher education mainly in the area
of engineering, business
administration and mediecal
education. But this process has also
led to mushroom growth of low
quality institutions without proper
infrastructure. However,
expansion of higher education in
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26.

India has resulted in increasing
access to higher education even in
rural areas of the country. In this
process, Human Resource
Development is taking place at a
faster speed as compared to the
earlier stage when the opportunities
for higher education were limited.

Globalisation has promoted
information technology in India.
Indian students have excelled in the
area of information technology over
many other countries.
Developments taking place in the
developed countries become
available to Indian students,
scholars and practitioners through
regular contacts and through the
modern technology.

How has technology
contributed to enrich the

competencies of Indian students in
the field of IT ?

(A) Indian students go to foreign

new

universities in large number to
study IT
(B) The new technology has
enabled them to study IT in
India
(C) Indian
promoting the new technology
Qur students have established
good contacts with developed

government  is

(D)

countries.
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26.

27.

28.

In the globalized India human

resource development is accelerated
by :
(A) Rapid flows of information

(B) Privatization of higher
education
(C) Opportunities for higher

education are limited to rural
areas '

(D) Commitment of Indian Policy
makers

In a fast changing society, firm
political commitment is essential
to :

(A) spread prosperity equitably
(B) reduce widespread destitution

(C) enhance quality of human

resource

(D) all of the above

Of the following................... is not a
factor affecting the speed of
globalization.

(A) Generation of new technologies
(B) Freedom for investment

(C) Marriage of information with
technology

(D) A high speed growth in
knowledge

Paper-1—A
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29.

30.

What might happen if we fail to

create a just and humane society ?

(A) The programmes for human
resource development would
fail

(B) Human skills cannot be

upgraded
(C) The process of globalization

would break down

(D) Globalization and liberalization

would create economic

imbalance

Find out the results of privatization
of education in India, from the

following :

(1) Higher education has become

accessible to rural students.

(2) The pace of human resource

development has increased.

(3) Many low quality colleges have

come up.

(4) The quality of medical and
engineering education has

improved a lgt.
(A) (2) and (3)
(B) (1) and (4}
(C) (D, (2) and (3)
(D) All of the above
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29.

30.

oAl MG UYRL 2, MLy Ay
Mufer srami Fivsa asx dl g
yReuu 2l i ?

(A) HiAa LA Qs sidsy [Fsa
%9\

(B) MiAdiu slaeiHl G gl uy
(C) Ardflsa-dl wBal eiofl ysg

@) Aadlsel x4 Gerdlsw qrl

s Ade- yaia
LAl otaui Rae-u aia
w58 wReuy gl
@ suHlel Renlaia G [ Yl

yaiyadl ds w8

(2) Hi-a daad @sia-dl alanl
izl 4ul ®

@) [ ot aviadl aell sidax
Qell us

4) doflofl A S Raal
Bttt VR aflzl Al B

(A) (2) ¥ (3)
(B) (1) ¥ (4
(C) (1), (2) ¥ (3)
(D) GU-lL sul %
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31.

32.

33.

EDUSAT refers to :

(A) Satellite based transmission
channel meant for educational
purposes

(B) A television channel providing

education and entertainment

(C) A non-commercial television

channel operated by cables

(D) An

operated through universities

educational channel

Teachers must not only be effective

communicators but they should

also :

use various media for

(A)

communication
(B)
(C)

take care to remain effective

get regular feedback from

students

(D) develop the same (effective

communication) in students
The most preferable type of
communication in the classroom
is ;
(A) One to many
(B) Many to one
(C) One to one
(D) Many to many
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32.

33.

16

EDUSAT 24 :

(A) [@ae-l &g e sl vudg
Guae uaid AANA

B)- [aw v eIy 343 wsdl
ws 2lafam A-a |

(0) 3014 gl ydiadsil viadl (G-
gareld] 2afanq A4g

M) yFHaR{Zlal gl Al s
Jafs Ana

(26l Mot #2525 Helirtsal o

ded yag el 3 Guzid dil

yad M2 [alaa sl
Guyiol 534l HSA

WA SEIREdL ANl AmaAL 2
st Adl Asw

a2 wddl  [Mulia
wAdine Aoag AsH '

[Qenalaiil v 2Ud & Heuu-
faa [suagd adH

(A)
(B)
©
(D)

2L A4 s us1R g asl-ncna- Al
agy GRd © :

(A) Wsd wa wd

(B) ueld, s euéi

(C) s s WA

(D) Helld "aL W




34.

3.

36.

37.

(B

‘Nodding” is a cue for................... 34.

communication.

(A} initiating

(B) terminating

(C) encouraging

(D} distracting

Which of the following is not a

communicative situation in the
classroom ?

(A) copying down the points

written on the blackboard

(B) standing up when teacher

enters the classroom

(C) looking down when teacher

asks a question
)
The major barrier in communication
process is :
(A) sender’s poof knowledge of the
topic of communication

receiver’s negative attitude
towards the sender

€
(D)

disturbance in the surrounding

lack of perceptible feedback
from the receiver

An address of a website on internet
1s called :

{A) URL
(B) Client
(C) Protocol
(D) WAN

Paper-I—A 17

35.

looking at the teacher silently 36.

37.

‘WY salad’ (nodding) W Uekiye
WEAML WAl d3d © 7

(A) MIZ™q s3cqiwil
(B) >ld dldale]

(C) MHlclerd iudisdl
(D) &AL s35nl

adui-{l ldA U5 58 wRRuR
Weyae-y3Rala e 7

() sien wledl Uz avel yeil
dl2Ml Geirat

(B) (fas adlui A8 cul Gl ug
(©) [Qas us yd AR -y Ag
D) Gias ad Hou-+2u disl xéq
M- WA Q) ISl veRiY 54
9 ?

(A) Anse{l weutustal ol 5l

Aol sl

(B) "os WA Witdsdld 451048
Ad8L

(C) uuWAHL udl giawe

M) Wvasdl  dsd]l  Lwlar

UlQUinRLHL AL

Hv2292 UL Aot el wguA
......... 58 8,
(A) URL
(B) seiure
(€) Mieisia
(D) WAN
[P.T.0.]




38.

39.

40,

41.

42,

In order to disconnect Internet, one
has to :

{A) Log in

(B) Exit

(C) Log out

(D} Quit

In which of the following file format

the editing is not possible ?

(A) . doc
®) . pdf
(©) . ppt
D) . txt

A result of a computer virus cannot

lead to ;

(A) Deletion of file

(B) Corruption of program

(C) Disk crash

(D) Motherboard Crash

The word ‘Internet’ is a composttion

of ; _

(A) Inter-communication and
Network

(B) International and Network

(C) Inter-connection and Network

(D) Interactive and Network

The full form of HTML is :

(A) Hypertext Machine Language

(B) Hypertext Markup Language

(C) Higher Text Machine
Language

(D) Hidden Text Markup Language

Paper-I—A

38.

39.

40,

41.

42,

grexde Asmdl el aL M2

.......... ud %S,

(A) Log in

(B) Exit

(C) Log out

(D) Quit

AL s18d  sidenidl  wlMl

B BEo/gulL-A8lL 54l AsY
ol 7

(A) . doc
(B) . pdf
(C) . ppt
(D) . txt

syer Al wReud. 8 ag
gl 7

(A) sidad sldle ug

(B) MitMg 5322 ug

(C) (B 3 ug

(D) 1R 6liS U ug

(hrade’ Wt ... o, Al 9.
(A) $r2-54RIUA wA Azas
(B) Hr2Aud A A2as

(C) Hre-sAsAA wA A2ad

O dr2xn(Fea 2 Aeas
HTML +, yel a3y
(A) gladzese Hellv 4%

(B) slqu2se Hifuy dodoy

(C) ez 252 Ml dody
D) s 252 LR RECE




43.

44,

45.

46.

If HOW = 23, and HAI = 9, then
SEX = ? '

(A} 18
(B) 36

(C) 47

(D) 24

The correct number for question-
mark in the sequence : 3, 4, 7, 12,
?, 28, ... is :

(A) 20

(B) 18

(C) 19

(D) 17

Given the set A = {Sparrow, Parrot,
Peacock, Swan, Owl, Duck}. Then
the total number of its subsets will
be : '

(A) 56

(B) 36

(C) 64

(D) 32

Choose the answer
to complete the sequence :

correct

Paper-I—A

43.

44,

45.

46.

A HOW = 23, %4 HAI = 9 9\4 d)
SEX = ?

(A) 18

(B) 36

(C) 47

(D) 24

20ef) Aell - 3, 4,7, 12, 2, 28, ... Wi

U8 el vadl Wl vy,

n

9.

(A) 20
(B) 18
(C} 19
D) 17

WAL AL A = (Usd], e, Hir,
€Y, 498, ods} i g4 Gual-l
......... ugl.

20 el .

VIR AR S

Hi viedi g2s g [Qseuisiel dioy
A udie s Al yof 30 :

[P.T.O.]




47,

48.

49,

50.

Paper-[—A

If ‘4’ stands for multiplication, -  47.

stands for division and “¥ stands
for the power, then the value of
[{(4 + 3) — 2}*¥2]+«6 * 0) is :
(A) 30
(B) 25
(C) 35
(D) 20
Given the correspondence 0 — — 4,
1 » -8, 2 > 4, 3 - 23. Then
34 — 7
(A) 520/81
(B) -341/37
(C) 421/88
(D) —229/64
A person X is taller than Y but
shorter than Z. The person V 1s
taller than X but shorter than Z, and
W is taller than Y but shorter than
X. Then the tallest person will be :
(A Y
B) 2
() v
O X
Make the sequence

x, ,p i, A
Complete by filling correct answer
from the given alternatives.

(A) ¥y
(B) ¢
(C) =z
D) n

50.

20

48.

(B)

49.

R ARSI 12+ [Rirg cAruRatui »d,
oUoUSLZ M2 [Bimg ctuami 2ud,
2 Al H2 7 [Rme Al wd
dl (4 + 3) — 2P2]-(6 * 0) 4 &
23l

(D) 20
A el Hotddl 20l sl dl
yse[@redl A 59 Avyl A ?
0 »>-4,1—->-3,2—>4,3 > 23,
34 5 7?7
(A) 520/81
~341/37
(C) 421/88
(D) —229/64
N Ald X A Glaud Y s34l ag 3,
W Z 43l 20l 8. ul3a v -l Gaus
X 53l 44 © u@l Z s3dl 2l 8.
A Wl Glaud Y sdl ag 9 usl
X s3di wledl . ol ALl ay Gleud
s e ?
(A) Y
B) Z
(Y
M X
auedl fell

x, 2 p LA
i viedl q2s wuld [Qsednidl 4
A waie s31 yel s e
(A) ¥ '
(B) ¢t
(C) =z
D n




51. A teacher is teaching in a classroom.
The Venn diagram related to school,
teacher, classroom and blackboard
will be :

@ (O ©

(B)

©

(D) None of (A), (B), (C)

52. Fill the correct letter from the given
alternatives, in place of question-
mark :

A
NINZAN

A) C
(B) K
(C) B
D) O
Paper-I—A

N

N AL N
7

51. s wouHl Ras aslui seudl &
. 2 Aeeldi wen, Ras, a0l 2a
scsolis Alsadl A gl ...

29,

@ (O ©)
O

®\O O

D) (A), B), (C) Hidl £ el

52. 2uta 2ngfanl, il Rseinisf]
WAL [Aseu e Birgetl @ H4

A INA N A N

E F ?
N A A

(A) C

(B) K

(C) B

(D) O
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53.

54.

Put the correct letter in the
diagram, from the given
alternatives, to replace ¥’

é%
® OO
®O® 0O

(A) J (B) K
(Cy L Dy G
Complete the sequence of squares
by choosing the correct figure from
the given alternatives :

b3.

o4.

A Biglani »ulle [Aseuinid]l wadl
Rsew waAfansel euq ysi o

é@
® OO
®®® 0O

(A) J (B) K
C) L D) G

2R sMs A 20l Kel
et [Qsedinil =l [Rsey 3ol Al

|| ™
(I

g
(111118

WK

55.

(A)

(B)

olF 1

)

Which of the following pollutant gas
present in atmosphere is more toxic
to human beings ?

(A) Carbon dioxide (CO,)
(B} Methane (CH,)

(C) Carbon monoxide (CO)
(D) Sulphur dioxide (SO5)
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NhE
(I

N
LML)

el s -
LA

53.

(B)

(A)

o) L]

(®)

Mo |
Lo |

b

()

alctagmi W¥dl 541 uedd cuy,
glr‘t?qwt 2 ag B Y adl
(A) sielv SLsUBS (COy)

(B) (M8 (CH)

(©) swel+ HiAlsds (CO)

(D) ULH SWLHUSS (SOy)




56.

57.

88.

68.

60.

Although use of nuclear energy is
thought to be pollution free, yet it
can pose severe health hazards due
to :
(A)
(B}
(®)

Nuclear explosion

Any disaster in nuclear plant

Unavailability of nuclear waste

disposal methods

Exposure of radiation during

normal running of a nuclear

plant

Green-house effect is increasing due

to :

(A} Change
pressure

(B) Change in number of green-
house gases _

(C) Change in concentration of
green-house gases

(D) Melting of glaciers and dry
atmospheric conditions

Arrange the following gases in

decreasing order of their

concentration in atmosphere :

(1) Oxygen '

(2) Nitrogen

(3) Carbon dioxide

(4) Argon

(A) (2-(1)<4)—«3)

(B) (1)-(2)-(4)~(3)

(C) (D~(D-(3)—4)

D) 2)(3)~4)~1)

Reduction in global warming is

possible with :

(A) increased plantation

(B) conservation of wildlife

(C) reduction in use of fossil fuel

(D) (A) and (C)

Which is the second most important

)

in

green-house gas besides CO,

responsible for global warming ?
{A) Methane

(B) Chlorofluoro carbon
(C) Nitrous oxide

(D} Ozone

( CFC)

Paper-I—A

étmospheric-

23

56.

b7.

a8.

59.

60.

AR AL auiw A 3 wuglig

HirtalHl 21 ¢, du wdi we

1 el Al ey Gy

Aefly 22 uB B,

(A) 28 Q812

B) ylsdu ‘ar-eui udl gen

(C) QL sAUAL s1a sq1]
Yglaatl Guasy « aqq

D) Y[3auR eyl qdl IRBAU)
22

U168 $852° Wi quil Ay

5l9

(A) clcdwil sollRHl g4l 33812

B) Al 1By Au-Al Avuni »dl
53351 '

(€ 3l 16y Nu-l iy 4dl
FS1R

M) Bulucivig og »A ysi
SlHA-l 2142

A 20061, cwyin duel aldigam

6] H3dlri GeRdl $H¥{ oNsql :

(1 3%t

(2) -udzio

3) sl stisassSs

@) »alq

(A (2)>-(1)4)~«3)

(B) (1)~(2)-(4)—~(3)

(C) (2)-(1)«3)—(4)

D) @-@)~()(1)

‘diog dilBar i yest o ysy

ol BYLY |

(A) qallueHi il auy

(B) a4 9l adgef] uy

(C) w3 squal gais) ay

(D) (A) v ()

sl SIULSUSS (COp) GURUA ol

54l eectrll Al B Uy B ¥ deflog

dAlBfor W2 wqiogz @ ?

(A) R«

(B) $eiUsdll siol (CFQ)

(C) B HisUSS

D) A
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ROUGH WORK
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